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Separction of va-naAQS) continved.

Recoll ft\a:f, bo sole= IVPg [1ke

% = ‘0("25[7)3 \//Xo)'*'}’o, (3€)

Wwe use o  Se O-I‘G.'(g) nta ro-+¢levcfuo."e) solve v s-fra.'fg.ﬁc{-
(Zf theres no T (G=S sz;ir the “evalvaie” 5£er)

T) Byplcation to “ol8 scheed  DES, of the form
Ay
(A..)&‘V'-'— dore. these 6e.ﬂbr¢, 6(1 '\jus'f wn{'t:\j y:: \YP(X)&X/ 6()*

our Jc,Po.mJ'loV\ sfra:fﬁc{ works here {:co/

Example 4 Sole
' 54_% = bx, y(l)""'.
Ax

Solv‘t(ah. 2
ScPo.vc:\‘ei cﬂ\/ =6X Ax. z
Infﬁrcdc," SGQZ = 56)( Ax

y=axi

Evalusle: le)‘L‘ So
4= Q:33%( = [6+C
C=4-16 = -2

> y = &x3-/o'2.\




]D,Q
Co=<k [4- nza?a% 1—!/[7

EXMF['&Q\ : Newtons Lew of Cooling.
(Note: this s very similar 'gca,mfl:l'/a'( &bo@ncsﬁay
4/17, and to " Diffusion across 6. mewbrane ” m HO 11.)

Al oé\ie_c‘* of fc.a.fy:ro-"'urc, @, i a reom of constanl
fwl:ero:}Urc A‘@) cools ot a rale pr twonal b the
kmre.ro:fure. cﬂ\@mce @‘A. Tl\o:f Ls,

4 = —k(Q-A) (k>0).
At
(e.) Find o formda for O in berws ."")0 k ank® A.

(B) Find om excdt Rrida for @ L{' .
(&) k= O.1 T /lwin-°C) cul A=20 C
(i) Qo)=90°C.

So!btl.gln.
Sc,Pm’fe—‘
AR = -kdt
Q-A
Lhteacate:
= S_am_ = (- kot
A-A m\‘;ﬁra.l PRCE
S& = -kt+C v= Q-A
v duv= 4Q
In(lul) = -ki+C
n(|Q-Al) = -kttc

Solve ! Since o cael!:lg oéicc't will never ceool to below room
£c_mt>ero:|'urc) we have Q?A always so Q-A 20 always,
so IR-Al= Q-A a.lwculs, so“?le abave r:.svl‘('écvas
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m(Q-A) = -kitc.
Then
m(@-A)_ -kteC

e i —
&_A = e“k"""c
& - A c-kf(-c.

Clear up i nete Skte oK
pinc that e - < ec: Neowo e_c 25;\0515 o constant
)

CA”H/”,S@ u-::gc:t

© - Ar e

(A,M, k Gre Posc}u/e, constonts).

(b) If k=0.1 ond A=2.9, u.x-_cﬁe;f

Q=20+Me ot

Pl.‘_”ﬁfﬂ in Q) =90 éﬁ;uc.s

0. 1.0

0=20+M
e - o =
50 M=90-20 =70, so - /%

/ Q =0+ 70@:0'1:e \




